



$$((q \supset \sim(s=s)) \supset (s=s)) \supset (q \supset (((s=s) \supset (s@s)) + ((s@s) \supset (s=s)))) ;$$

TTTT TTTT TTTT TTTT

(2.1.2)

**Remark 2.1.2:** Eq. 2.1.2 is tautologous, to confirm the conjecture, affirming the proof format of  $t \supset t = t$ .

The consequent of 2.1.1 can be restated more compactly as:

If imperfect man implies good, then man can bring good out of evil. (2.2.1)

$$((q \supset \sim(s=s)) \supset (s=s)) \supset (q \supset ((s=s) \supset (s@s))) ;$$

TTTT TTTT TTTT TTTT

(2.2.2)

**Remark 2.2.2:** Eq. 2.2.2 is tautologous, to confirm the conjecture, and to affirm the analog of penance to imply true repentance.